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0.

5=30-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

ongma

== bow i
—— DQM_T mkFlt TTﬁnewStudyM
— —— DQM_mkFit_TT_newStudyh

[[Efficiend] —— DOM_mkFit_TT newStudyhp4

< 0.5

>

efficiency vs dx
S

©

hll ”u||||um

—1—0&00—04 0.2 0 0204 0.6 O&
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

SR T T
[ L N .
§ f : :
O b el PRI
s I . .
> :
o I .
Y A S SN S S
2 [ .
= r N
@ - :
S F. D AP e
0.4:_ ____________ L B A
0.2+ reeeeees FRTTEE F S PR beeees
[ i i ; i i
g9 ' .
T .
@ .
L e YT e T
0% =20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

r>~lA_ - -

o L : .

¥ :

o I 1

> .

> N

Q .

c

@ .

9o H N

© .
cesasaa J: ..... |J ...... ..
WL O

o 10 ¥

T ]

gt

1 -
-1 -0.5




	Contents
	Page 1


